Project No: Customer: Description | Date Project Manager:

592301 UNIVERSITY OF HAWAII ISOTOPE ALUMINUM VAN 08-Feb-03 Dave d.
Dwg Sht Item Description Material SPECIFICATION Qty Cut Purchase | Units Supplier PO Required| Arrival Notes

Number No. OR PART Imp. Size/Lgth Number | Delivery Date

FAB BOM LENGTH WIDTH
592301-05| SH 1 1 6x6x1/4 Tube Aluminum 6061-T6 |Vertical Posts 4 8 ft n/a 2@20ft ft Integris
592301-05| SH 1 2 |Channel C6x2 1/2x1/4 Aluminum 6061-T6 |Base perimeter, fork lift section 5 Various n/a S@20ft ft Integris
592301-05| SH 1 3 2x4x1/4Tube Aluminum 6061-T6 |Top rail around roof 4 80 ft n/a 4@20ft ft Integris
592301-05| SH 1 4 |Not Required Not Required Not Required
592301-05| SH 1 5 |Top Right ISO Corner Casting Aluminum 6061-T6 76010-6TR 2 n/a n/a ea ea Tandemloc
592301-05 SH 1 6 |Top Left Corner ISO Corner Casting Aluminum 6061-T6 |76010-6TL 2 n/a n/a ea| ea Tandemloc
592301-05 SH 1 7 | Bottom Right ISO Corner Casting Aluminum 6061-T6 |76010-6BR 2 n/a n/a ea| ea Tandemloc
592301-05 SH 1 8 |Bottom Left Corner ISO Casting Aluminum 6061-T6 |76010-6BL 2 n/a n/a ea| ea Tandemloc
592301-05| SH 1 9 2x4x1/4Tube Aluminum 6061-T6 | Framing 1 8 ft n/a 8 ft ft Integris
592301-05 SH1 | 10 2x2x1/8 Tube Aluminum 6061-T6 | Framing 2 8 ft n/a 1@20ft ft Integris
592301-03| SH1 | 11 |Channel C4x2 x1/4 Aluminum 6061-T6 | Base Frame Cross Members 11 8 ft n/a 6@20ft ft Integris
592301-02) SH3 | 12 2X2X 1/4 angle Aluminum 6061-T6 |Wall & Roof Studs 75 8 ft n/a 40@?20 ft ft Integris
592301-02 SH3 | 13 2X2X 1/4 angle Aluminum 6061-T6 |Interior Wall Perimeter 8 Various n/a 8@20 ft ft Integris
592301-02 SH3 | 14 3/16 Plate Aluminum 5086-H21 |Base,exterior wall & roof skin 4 20 ft 8 ft 4@ 8'x20' sqft Integris
592301-03 SH1 | 15 |1/4" Plate Aluminum 6061-T6 | Fork Lift Pockets 1 8 ft 4 ft 1@ 4'x8'| sqft Integris
592301-02) SH3 16 |18ga interior wall skin Aluminum Interior Wall & Ceiling Skins 21 8 ft 4 ft 21@ 4'x8'| sqft Integris
592301-02 SH1 | 17 |1x1x.095 Square tube (radius corner) Aluminum 6061-T6 |Ladder Rungs 1 20ft n/a 1@20ft ft Integris
592301-02) SH1 | 18 |3/16x2 flat bar Aluminum Ladder Frame 1 20 ft n/a ft ft Integris
592301-06) SH1 | 19 |2x2x1/8 Aluminum Tube around a/c Aluminum 6061-T6 |A/C Frame 2 40 ft n/a 2@20ft ft Integris
592301-06 SH1 | 20 |1/8 Aluminum Sheet Aluminum 5062 Door/Window Frames, A/C Mtg, Misc | 4 96 48 4@ 4'x8' sqft Integris
592301-06) SH2 21 |3/16" Sheet Stainless Steel Plumbing Demark Panels 1 96 48 l@w 4'x8'| sqft Wilkinson
FIN BOM

592301-02) SH3 | 25 |Insulation 2"-4 lbs Mineral wool Insulation 700 | Various | Various sqft| sqft
592301-02 SH3 | 26 Unistrut 13/16 X1 5/8X12ga Aluminum P4000EA 33 330ft 33 @10’ ft
592301-02) SH3 | 27 |3/4 plywood good one side Plywood Flooring 5 8ft 41t S@8'x4'| sqft
592301-02) SH3 | 28 |Altro Flooring commercial grade Vinyl VM 20153 fog 160 sqft| sqft
592301-02 SH3 | 29 Fillet Strip Rubber Fillet Strip 60 60 ft ft ft
592301-02 SH3 | 30 |1/8x1"flat bar Aluminum Wall Trim 15 150 ft 15@10' ft
592301-02 SH3 | 31 #12 X 2" Wafer Head Self Drilling Screw zinc plated Floor Screws 200 ea| ea
592301-02 SH1 | 32 |RH Door 30Wx80H Clear Opening w/Window,Cover, & door closer Aluminum DSG 250 Series 1 ea| ea
592301-02) SH1 | 33 |LH Door 48Wx80H Clear Opening w/Window,Cover, & door closer Aluminum DSG 250 Series 1 ea| ea
592301-02) SH1 | 34 Window 22W x 11H (24 3/8Wx13 3/8 H Cut Out) Aluminum DSG D5/10 fixed window 2 ea| ea
592301-02 SH1 | 35 |A/C, 10,000 btu heating &cooling Climette Model No CH1026TB without sleeve 1 ea| ea
592301-02) SH1 | 36 |A/C Grill for Above Grill 1 ea| ea
592301-02 SH2 | 37 |Cabinet, Wooden 4 Drawer 30W x 28D x 38 1/2H Wood Spacealist 2 ea| ea
592301-02| SH2 | 38 Counter Top, Laminated Wood, 122L x 28D x 1TH Wood/Melamine Spacealist 2 ea| ea

592301-06/ SH1 | 39 |3/16 plate (for flange see shl for detail) aluminum Water jet cut 4 ea ea

592301-06/ SH1 | 40 |3/16 cover plate (for detail sh 1) aluminum Water jet cut 4 ea ea

592301-06| SH1 | 41 |6"nom (6 5/8" o/d) sch 40 pipe aluminum Cowling 30" ea| ea

592301-06/ SH1 | 42 Cowling flange aluminum Cowling 1 ea ea

592301-06/ SH1 | 43 |14ga for cowling body aluminum Cowling 1 96 48 l@ 4'x8'| sqft

592301-06) SH1 | 44 3/16 rubber gasket (see shl for detail) Rubber gasket Cowling 4 ea ea

592301-06| SH1 45 |5/16-18 x3/4 HEXHD BOLTS S.S Cowling 16 ea| ea

592301-06/ SH1 46 5/16-18 Nutserts (.125-.312 grip) S.S Cowling 16 ea ea

592301-06| SH1 | 47 |2x2x9x3/16 formed angle Aluminum Cowling 4 ea| ea
592301-02 SH1 | 48 |12gaX13/16X1 5/8 Unistrut Aluminum P4000EA 160 ft ft
592301-02) SH1 | 49 Unistrut Angle 37/8x25/8 Aluminum P1747 20 ea ea
592301-02) SH1 | 50 |1/4-20NC x 3/4" Long Bolts Stainless Steel Cabinet Mounting 20 ea ea
592301-02 SH1 | 51 |1/4-20NC Unistrut Spring Nut Stainless Steel P4008SS 20 ea| ea
592301-02) SH1 | 52 |1/4 Flat Washer Stainless Steel Cabinet Mounting 20 ea| ea
592301-02) SH1 53 |1/4 Lock Washer Stainless Steel Cabinet Mounting 20 ea| ea
592301-02 SH1 | 54 |Fire extinguisher, 10# ABC 10# ABC Viking Fire or Equal 2 ea ea
592301-02) SH1 | 55 |Fire extinguisher, 15# CO2 15# CO2 Viking Fire or Equal 2 ea ea
592301-02 SH2 | 56 Door Closer 953 AL Parker Accurate 1 ea| ea
592301-02) SH2 @ 57 |Cabinet, Wooden w/Shelves & Single Door 28W x 28D x 38 1/2H Wood Spacealist 2 ea ea
592301-02) SH2 | 58 |Cabinet, 3 Desk Drawers, 15W x 28D x 28 1/2H Wood Spacealist 1 ea ea
592301-02) SH2 | 59 |Cabinet, Sink w/2 Doors, 1 shelf Wood Spacealist 1 ea ea
592301-02 SH2 | 60 |Door, Interior, Hollow Steel 30 x 80 RHR, ¢/w ADL 16 x 16 Door Louver, Steel Accurate 1 ea ea
592301-02) SH2 | 61 Knock Down Door Frame for Above Steel Accurate 1 ea ea
592301-02) SH2 | 62 |Passage Set, Non-Locking, Lever Style Doorex Accurate 1
592301-02) SH2 | 63 Window 20W x 12H C/O, Horizontal Slider TBD TBD 1 ea ea

PLUMBING BOM

592301-06| SH3 | 64 |Valve, 1 1/2 FIP Threaded PVC 149-871 2 ea| ea

592301-06| SH3 | 65 |Adapter, 1 1/2 MIPto 1 1/2 Barb PVC 121256 3 ea ea

592301-06| SH3 | 66 |Hose, 1 1/2 Corrugated White Marine PVC NL4980-150 15' ft ft

592301-06| SH3 | 67 |Hose, 1 1/2 Corrugated White Marine PVC NL4980-150 2' ft ft

592301-06| SH3 | 68 |Hose, 1 1/2 Corrugated White Marine PVC NL4980-150 6" ft ft

592301-06| SH3 69 |Valve, 3/4 FIP Threaded PVC 425-059 5 ea ea




592301-06| SH3 | 70 |Adapter, 3/4 MIP to 3/4 Male Hose Brass A-665 121-838 8 ea| ea
592301-06| SH3 | 71 |Adapter, 3/4 Male Hose to 1/2 FIP Brass A-668 121-851 4 ea| ea
592301-06| SH3 | 72 |Hose, 1/2 Black, 5' long Black Rubber 121899 1 ea| ea
592301-06| SH3 | 73 |Hose, 1/2 White Marine/RV Water White Reinforced A2407050 x 5-20 2 ea| ea
592301-06| SH3 | 74 |Hose, Braided, 3/8 Comp to 1/2 FIP, 20" long Braided Polymer 118-743 2 ea| ea
592301-06| SH3 | 75 |Adapter, 1/2 MIP to 3/8 Comp Brass 103-437 2 ea| ea
592301-06| SH3 | 76 |Coupling, 3/4 FIP to 1/2 FIP Brass 415-190 1 ea| ea
592301-06| SH3 | 77 |Bushing, 3/4 MIP to 1/2 FIP PVC 166-728 2 ea ea
592301-06| SH3 | 78 |Elbow, 90deg, 3/4 FIP PVC 413-094 1 ea ea
592301-06| SH3 | 79 |P-Trap, 1 1/2 ABS with Cleanout ABS 114-130 1 ea| ea
592301-06| SH3 | 80 |Adapter, 1 1/2 P-trapto 1 1/2 FIP ABS 116-158 2 ea| ea
592301-06| SH3 @ 81 |1 1/2 Sea-Lect Diverter Valve PVC Western Marine 1 ea ea
592301-06| SH3 | 82 |Coupling, 1 1/2 FIPto 1 1/2 P-Trap ABS 116148 1 ea ea
592301-06| SH3 | 83 |Reducer, 1 1/2 M Slip to 3/4 FIP ABS 158 543 1 ea| ea
592301-06| SH3 | 84 |Adapter, 3/4 MIP to 3/4 FIP PVC 166 752 1 ea ea
592301-06| SH3 85 |10" frst wal hyd w/vac breaker 135 893 135 883 1 ea| ea
592301-06| SH3 | 86 |3/4MIP 45Deg Street Elbow Brass 1 ea| ea
592301-06| SH3 | 87 |3/4F Hose x 1/2" MIP Hose Adapter Brass 121870 4 ea| ea
592301-06| SH3 | 88 |Polyproylene cam lock part a female npt adapter polypropylene /Greenline G65PA-150 4 ea| ea
592301-06| SH3 | 89 |Polypropylene cam lock part a female npt adapter polypropylene /Greenline G65PA-75 4 ea| ea
592301-06| SH3 | 90 |Polypropylene part dc dust cap for #87 Polypropylene / greenline G65PDC-150 4 ea| ea
592301-06| SH3 | 91 |Polypropylene part dc dust cap for #88 Polypropylene / greenline G65PDC-75 4 ea| ea
592301-06| SH3 | 92 |3/4" Dia nipples X3 " Long Stainless Steel Demark Panel Fittings 4 ea ea
592301-06) SH3 | 93 |1 1/2" dia nipples X 3" long Stainless Steel Demark Panel Fittings 2 ea| ea
592301-06| SH3 | 94 |Sink 18Lx15Wx12D PVC Sink 1 ea ea
592301-06| SH3 | 95 |Faucet hot &cold W6720/ cambridge 4" o/(Faucet 1 ea| ea
592301-06| SH3 | 96 |Spray hose Haws 8901B & wall hook Eyewash Station 1 ea ea
592301-06| SH3 | 97 |Hose, 1/2 Black, 10' long, Female Both Ends Black Rubber 2 ea ea
592301-06| SH3 | 98 |Hose, 1/2 White Marine/RV Water, 10' Long, Female Both Ends White Reinforced A2407050 2 ea| ea
592301-06/ SH3 | 99 |1 1/2" Nipple x 6" long Stainless Steel Floor Drain 2 ea| ea
ELEC BOM
592301-02 SH1 | 100 |Flourescent light, 2 Tube ,4 foot , Damp location Lithonia Fcd 240 120ES 6 ea ea
592301-02 SH1 | 101 |Incand. Light, Weatherproof Ceiling Mt 100W Red Globe w/guard RAB Electric VAKS100CG 1 ea ea
592301-02) SH1 | 102 |Smoke detector Firex FXW-R 2 ea| ea
592301-02 SH2 103 Duplex receptacle, 15A 120V ivory 15A 120V ivory Levition 6598-1 or equal 8 ea ea
592301-02 SH2 | 104 Duplex receptacle cover for #65 Stainless (large size) |T&B 97401 (Commander or equal) 8 ea ea
592301-02 SH2 105 |Light switch 15A,120V 3 way 15A, 120V, Ivory, 3 way |[LEVITON, 52621 (OR EQUAL) 6 ea ea
592301-02) SH2 106 Switch cover for Above Stainless (large size) | Commander, 97101 or equal 6 ea| ea
592301-021 SH2 107 |Distribution Panel 120/240V 125A,12cct copper bus Cutler hammer CPM112 1 ea ea
592301-02 SH2 | 108 Main breaker, 40A 2 Pole Cutler hammer BR240 1 ea ea
592301-02/ SH2 109 Breaker, 15A 1 Pole Cutler hammer BR115 3 ea ea
592301-02 SH2 110 Breaker, GFI 15A 1 Pole Cutler hammer GFCB115 7 ea ea
592301-02 SH2 | 111 |Breaker, 15A 2 Pole Cutler hammer BR115 1 ea ea
592301-02) SH2 | 112 |Fused disconnect switch,60A, 600V 3 Pole Cutler hammer 1HD262 1 ea ea
592301-02 SH2 113 |Transfer Switch,Dbl Throw, Non Fused Disconnect 240V 2P 60A Cutler hammer 1DT222NF 1 ea ea
592301-021 SH2 114 XFMR, 10kva ,480/240 Primary,120/240 sec,copper 1pole , Nemal Marcus 1 ea ea
592301-02) SH2 | 115 XFMR, Buckboost 1.5kva 208v Prim, 32V Second, Copper 1P, Nemal BE1500P208S32 1 ea ea
592301-02 SH2 | 116 | Selector switch, 3 Position ,60A contact 600v rated K lockner-Moeller T5B-4-XXX-65E 1 ea ea
592301-02) SH2 | 117 Appliance inlet, 60A 3 Wire+Grnd 480v 3 pole F.W Connector 669419 2 ea| ea
592301-02) SH2 | 118 |Cord connector for item 117 F.W Connector 369419 2 ea| ea
592301-02) SH2 | 119 Emergency 2 head light Lithonia or equal LTHM636120CSCSA 2 ea| ea
592301-02) SH2 | 120 Buss fuse holder(hpd) 6a KTK-10 (Limtron) 1 ea| ea
592301-02) SH2 | 121 |1-Port Wall Plate, Ivory Leviton 41080-11IP 4 ea ea
592301-02 SH2 122 |Cat Se, RJ45 Jack, Ivory Leviton 5G108-RI5 4 ea ea
592301-02) SH2 123 |Cat 5e, RJ45 Cable 80' ft ft
592301-02. SH2 | 124 Junction Box, 8 x 8 x 6










	Engineering

